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Two wood beams cut from the same timber are arranged as shown in
Fig. 1, the free end of the cantilever DC being supported at the
middle of the simple beam AB. Both beams are horizontal and at
right angles to one another.  Find the vertical deflection 5, at the
point of contact due to a vertical load P applied to the end of the
cantilever as shown. (15%)

A simply supported beam as shown in Fig. 2 is struck at its midpoint
C by a ball of weight W freely falling from a height h above the
beam. Neglecting the weight of the beam and assuming that it
behaves elastically, find the total deflection & that will be produced at
point C. (15%)

Determine the deflection & and the slope 6 at the free end A of the
cantilever beam AB loaded as shown in Fig. 3. Please draw the
bending moment diagram for this case. (10%)

A prismatic cantilever beamn AB carries a uniformly distributed load
over the portion b of its length as shown in Fig. 4. Find the
deflection & of the free end A. Please also draw the bending
maoment diagram for this case, (10%)
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